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E1-7

) EEHRAF=EEHM+EEAL

= $30.000-+$50,000=$80. 000

@ MIEA=EHEAL+REHEM

= $50,000+( $35.000+810,000+815, 000 )
= $110,000

(@) EaEA=EEM+EEAT+REER

= $30-000-+850,000+( $10, 0004835, 000-+815.000)
= $140.000

EI-8

(1) ¥ A=$1.200x60=872,000

(2 #&  JH=$100,000+100x60=860.,000
G

% = $100. 000100 X10=$10, 000



2 mAHHHEET

(4 B A& =$100.000
(5) REERA = $100,000+100x(100—60—10)=$30,000
6 EEEEA = $60,000+$10,000=870.000

El-9
(1) Bz A = $400.000
4 i H = $100,000+8150.000-+$150, 000-+860, 000 +
$200,000—%$100,000<10 %—$150.000x20 %
= $620,000
mw = $400,000—$620.000=%$(220,000)

(2)  FEMAE A = $100,000x90 %+$150,000 %80 75+8150. 000
= $360,000
M A = $60,000

(3) $4EFHA = $360.000x80 %=8288.000
i F= ( $400,000—%288,000 )—%$60.000=$52, 000

PI1-1
BayEREKASXTT » BIBHRARS 0.8X » EERAF0.8X
0.8X=0.64X » EEHE50.6x0.64X=0.384X » HIEATL=
0.64X—0.384X=0.256 X
BB =0.8X—0.64X=0.16X




W1E % w3

B H R = 0.16 X% 0.1=0.016X

FHEHEE A #05 = $400,000=0.384X—0.016X
X = $1.000.000

I 45 56 = $1.000.000 0. 384 =$384,000

EHA L= $1.000,000x0.256=%8256,000

£ HEEA = $1,000,000 %0.64 =$640,000

5% B = $1,000,000%0.16 =$160,000

BSE A = $1.000,000%0. 8 =$800. 000
FE Bt A = $1.000.000

PI1-2

i 422 6 = $6.000 =10 %=$60,000
ez mTIRARX » AISGERAD0.5X » HEALS0.5X » £
FTRAFRX 0.8 =1.25X
1.25X—0.5 X=$60,000
X = $80, 000
LG H = $80.000x0.5=%$40. 000
B A R+ T = $60,000 + $40,000 = $100,000
I 34 i 2 ) = $40,000 X £ = $16.000
BE)RLILEH = $40.000 X % = $24,000
H filf 2 #5184 = $50, 000 +$40, 000 +$ 100,000 -$190,000
B i DN .2 B = $190,000 X 2-8100,000 X 2—$16,000 X2
= $116.000
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PI1-3
(1) #HEEM (6) EEAL
(2) BEBRA—MEMNR 6 WERA—MHEAT
@) BEBRA—-MEAT ) HERA
(@) EEHH 8 WERM

Pr-4

(1) RS RAE=EEHNHEEAT+HERA
= $70.000 +$50, 000+ ( $15.000+$25.000 +
$10,000 ) =$170,000

(2) # % & R & = $170,000+$20,000 =$190,000
@) * B K A= $70.000+850,000 =5120,000
() th L B & = $50,000+%$50,000=§100,000
(5) #E & B & =$170,000
(6 M B B A =$20,000
(1) SALE SR A = $170,000--10,000=$17

Pl1-5

F $100.000 .
Q= 5 = g5 g3 = 20-000 (HAL)




w1E K @ S

.C. $ 600
= = = $1,000
v.C 1 $0.2+0.6
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Pl-7
ERFRIERTINE > MIBEERA ;. S I R
FUHTH » QI BIEA o _
BB » DRI H R A 75 T (2 RO DT B IE K 48 e
[ 5 A » PR AR E AT B » LR B BEE o
EREIBA » AL ERRERNSY BERERSHE
ERA > (BRSE A — 7 6 BRI I » [R5 S S Ao
EBRA » 470 A T OINE TS EERA » Tf L5
AT A% T BB EBRA » TR A L% BERA o
EE Rk » REREBET » Ao HHEETH o
ERMBRA  E—EERT2EBRBEERA » BBBE
AR B R R NTAUR IS TR - SRS B A
EEBEA it @R BHEENT A T2 H TS
g T AR R RS BER AT RA » BEBER
& o
EeiA > NERRFLANTSERSHE2LE o
ESBEIAK » P R S — R > W) AR R AR
T DS B R NI B > 0 LB o
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E2-9
A = $1,500,000% (1 —40%5)=%900,000
5 Y B A fF 17 = $100, 00048900, 000—$§900,000=%$100, 000

——F2-10 —
(1)84 ¥ 5% A = ($240,000-+85,000+$20,000—$18,000)+$300000
+$12,000=$559, 000
(2)8 F54 A = $24,6004-8559, 000—$25, 000=3$558, 600
(3)34 12 A = $28,000+8558,600—826, 795=$559, 805

E2-11

$180,000

ﬁﬁ‘f@i&ﬁfﬁﬁ&* = m =

60 %
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=F2-12
B #: AL = $150,000--75% = $200, 000
54 B A = $280,000-+$200,000+$150, 000=8630,000
W0 42 B 50 77 15 = $650, 0004850, 000—8630, 000=$70, 000

P2-1
(1) KEEAT]
B B B AR 2
70 4R i
110 ¥ Kt $ 38,000
FRHE 1] 320,000
DIRCER=E S $ 358,000
B R ( 45,000)
L 452 A $ 313,000
B#EAT 460,000
0 5t 2 300,000
REBRA $1,073,000
ik ks VT 48,000
AN $1,121,000
AR 2B S ( 30,000)

BB R $1,091,000



w2 WANPHMBEEKX 9

& NI
B & £
70 L
#H = $1,600, 000
BHEECA ©
MR § 33,000
4 WIBLEGS, 1,091,000  $1,124,000
J oA S ( 40,000)  (1,084,000)
HIRER $ 516,000
HEER
Hes 2 $ 200,000
R 100,000 (300,000)
e Fl $ 216,000
G ( 75,000)
FHEF $ 141,000
@ P NG
RHEBBE
70 SEfE
R B R ER § 101,000
s A WEF 141, 000
N . $ 242,000
o Al 80,000
SR (R B AR $ 162,000



10 oA & at & g

) KL T)
A fa ik
704E 12 A 31 1
= 5 £ 00 B S o i
HEYEPE s fE
B 4 $ 80,000 HEAHiRaS $110,000
g 5k $180, 000 FEAFEF 40,000 $150,000
P 5 1520 ( 8,000) 172,000 s REE: -
F B ez He » 1 $600,000
HEHEIR 8 45,000 i % $10
ERGFER 30,000 fREZER 162,000 762,000
BB AEER 40,000 115,000
fartEm __5,000 $372,000
[E R E

ChEa%ME  $600,000
RIHTE— (170,000) $430,000
TR
AR $180,000
BEHRE—  (70,000) 110,000 540,000
bNA |
PO FBH $912, 000 f4{i R B AR £ R4 $912,000

P2-2




w2 WKEPRUEEE 11

(1) 37 8 ) 53 16 5 = $396,000 100, 000=83. 96/7F A\ L/MF§

(2) $300,000--100, 000=$3 o1 B L R AR
450,000=100,000= 4.5 -+~ T e A TR
A A BL AR
B OB 83 x 20,000=8§ 60,000
A T 4.5 % 0,65 20,000= 54,000
WA 3.96%0.6 % 20,000=_47,520
H R A B R $161,520
MY SR EA
[ B A A AR $ 3
RN TRA (4.5%1.1) 4.95
TR AE BN (8.96X1.1) 4.356
# &l $ 12.306
Fe o RER 80,000
BB B A $ 984,480
= p2-3
O T B IE
21 TR $20,000 H o f $20.000
BEHBES  $20,000 AR $20,000
2/4  AMEG#H FeBl S —Eg A 84,000

i e R — T4 A L 2, 000
HoooH® $6,000
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2/8 LKt  $2,000

2/14

2/14

HE £+ 37 T $1,730

RN B8R 180

4055 (- 2 90
FEf+3 T $1,730

B % $1,730

T REE 3K $200
RHETE W
BB 2 20
EN

$200

TR $800
B %
KA $2,050

TRtk $2,050
et iRk $2.300

2 I

$800

$2,300

IR  $2,000

ATEMRAESHR  $2,000

FEMB—EEAL $1.880

BiSEA—RMEAL 120
Lig#H L $2,000
BEBA—TE  $200
2 FIhRTE AR $200

ERG—BERA $640
B 47 B B 3% 2 H

B S $2,050
fERA—EEME $450
FRH—BEEATL 960
ERZ-WEBHE 640

BEBRMA—HE  $800
2 ARt 3K

NEILTE
B

$640

$800
$2.050
$2,050

P2-4



